Looking at signal MC for yp = p + nm°

1 1
> [ J1ac B F
ok s hdgeant4 1.9.0
© —12( © r
0.8 D.8F —10¢
c = c L
o S
Uo.7 — —{10C U0.7—
e B L =
_§ : *g n —80(
=OF soc  2°F
S r S
0.5 Q.5 60(
(79} [ (7] [
S t 6oc S L
.4 D.4—
: . 40(
0.3F 40( 0.3F
ooF Signal selection 02f o0
n 20( -
0.1 0.1F
il | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 11 O il | 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 11 O
0.05 0.1 0.15 0.2 0.25 0.3 0.05 0.1 0.15 0.2 0.25 0.3
n, Mass (GeV) with Events /0.001 GeV n, Mass (GeV) with Events / 0.001 GeV

Two-photon masses shifted in hdgeant4 by ~5—10 MeV



Looking at signal MC for yp = p + nm°

—
LI
—

—14(

Data ||

©

IIII
-QO
IIIIII

>
3 3
B
0 a)
o L o
S r —12( S [ ase
«0.8 D.8F
C — -E C
QJ =
0.7k t1oc > oF —{30¢(
LLO'7—_ uo.7—
= r =
506: 3 oF —o5(
o g0  SV6F
- GJ -
S F O
o0-51 Q0.5 20(
S 6o I [
= ~ s [
DAL D.4 15¢
0.3 400 g3k
- - 10(
02 Signal selection o 02F
- - 50(
0.1 0.1
—|||||||||||||||||||||||| O "llllllllllllllIIII||||| 0
0.05 0.1 0.15 0.2 0.25 0.3 0.05 0.1 0.15 0.2 0.25 0.3
n, Mass (GeV) with Events / 0.001 GeV m, Mass (GeV) with Events /0.001 GeV

Two-photon masses shifted in hdgeant4 by ~5—10 MeV



